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-{The following questions may be answered in either English or Chinese. Please show your work because (i) partial credit willj
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lsometimes be awarded and (i) full credit may not be aWarded for answers that appear without accompanying work.

1. (35%) This problem about smartphones consists of four parts. Parts (3) and (4) can be answered independently.
(1) (8%) Suppose in the market of smartphones in Taiwan, a Taiwanese company, Firm A, is the only supplier. What do we call
this kind of market structure? Suppose the market demand is linear. Please draw a clearly-labeled graph to show how the

equilibrium price and quantity will be determined. (Hint: The x-axis will be quantity, and the y-axis will be price.)

(2) (7%) [Continued from (1)] Suppose there is news reporting that using smartphones will cause diseases so many people decide

not to use smartphones. How will this affect the equilibrium price and quantity? Please describe in words and draw a new
graph to explain. (Hint: You should start the new graph from copying the graph in (1) and then show the changes.)

(3) (7%) [Ignore (2)] Suppose a Taiwanese Firm H also joins the market and produces “H phone”. What do we call this kind of
market structure? Both Firm A and Firm H have three price strategies (high, medium, and low), and they can predict the

payoffs as below. For example, if Firm A chooses High and Firm H chooses Medium, the payoff of Firm A will be 2, and the
payoff of Firm H will be 7. Suppose both firms know this payoff matrix and will choose their best responses. What will be the

price strategies at the equilibrium?

Firm H
High Medium Low
High 7,5 2,7 1,1
Firm A Medium 2,0 4,2 5,0
Low 8,1 3,4 6,2

(4) (13%) Suppose the smartphone market becomes perfectly competitive, and the world price of smartphones is lower than the
domestic price. Please draw a clearly-labeled graph to illustrate the Taiwanese smartphone market and describe the differences
in terms of price and quantity when (i) there is no trade, (ii) there is free trade, and (iii) the government imposes a per-unit

tariff on imported smartphones.

0. (15%) Labor supply is an important aspect in development studies. Suppose a young lady allocates her time into work and
leisure, and she can work for up to 80 hours a week. She obtains happiness from hours of leisure (L) and units of consumption
(C), and her ability to consume depends on how much she earns from work. Her hourly wage is W, and her consumption per
unit costs P.

(1) (8%) Please use L, C, W, and P to set up a utility maximization problem for this young lady. (Hint: You only have to *“set up”

the problem. No need to solve it.)

(2) (7%) Please draw a graph to describe this utility maximization problem and explain where the equilibrium will occur. (Hint:
The x-axis will be L, and the y-axis will be C.)
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